
What if everyone in Bath with 
20 minute journeys to work went ‘green’?
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What if everyone with 
20 minute journeys to work went ‘green’?

• Those nearby (0-2km) would:
• Walk: ≤20 minutes
• Cycle: ≤ 8 minutes

• Those further away (3-5km) 
would:
• Cycle: ≤ 20 minutes
• eCycle: ≤ 13 minutes

• Those further still away (5-9km) 
would:
• eCycle: ≤ 20 minutes



What would that do for congestion, air 
quality and greenhouse gas emissions?

Means of travel on daily journeys

Walking Cycling eCycling Total Green Motorised

Now 10,000 2,000 tiny 12,000 42,000

Possible 17,000 7,000 5,000* 29,000 25,000

Means of travel on daily journeys

Walking Cycling eCycling Total Green Motorised

Now 18% 6% tiny 22% 78%

Possible 31% 13% 9% 54% 46%

Ref 2011 census data

17,000 less fossil fuelled journeys needed each day
*  Assuming electricity is from renewable source


